R R R RHM O AER | ERK

P8 19] p(A~1y,"AL) = p(A™ 1y, "An)

[p-12 113] p(§ +t0) = Imt # 0
E
Imt#0=p({+1t0) #0

[p24 Tl] A()\l,. . ,Am) — AQ(Ah. . .,Am)

[p-25 12] |/ (HcAj ez, 2)| < €C|Cez||Hez| = €C|Cez|* = €C(Hez, 2)
= |/ (HAj ez, 2)| < eC'|Cez||Hez| < €C|Cez|? = €C(Hez, 2)

[p-46 1] —Ai(n,0) = —e(&;m)

[p-46 1.2] —Ae(n, 0) < —Ai(€,0)/Crlnl = =Au(&m) < —Ae(€,0)/Cilnl
[p-46 4] A(€,0) < CrlnlA(n,0) = Ar(&,0) < CrlnlAe(€,m)

[p-46 5] [Ai(&,0)] < CrlnlAi(n, 0)] = [Ak(& 0)| < CrlnlAe(&,m)
[p.50 111] P = Z|a|<m(x)Da = P =3, j<pm ta(z)D®

[p.50 11] (27)™™ [ = (27)~ 2" [

[p.51 L1] (20) ™ [ = (2x)" 2" [

P62 |14 5=5+2=5=s+1

[p.83 | 14] fioo llw(t, )| (e—1)dt < Cfioo llglle—1)dt
= [t e—1dt <C [*_llglle-1dt

[p.86 [iiiE] 337 — 393 —> 377 — 393

[p-89 4] dp.o(x,£) > 0= p.0(0,0)dp.o(z,§) >
[p-89 5] aH,(2") = ap.o(0,0)Hy(2°)

[p-89 L 10] A; Hp(25) = Ajp20(0,0)Hp(2;)

[

p.89 114] Ajdp., (V) = o (Y, \; Hy(2;)) > 0 =
)\]pzJ (0 0)dp.;(Y) = o (Y, \jp-,(0,0)Hp(z;)) > 0

p.90 111] (i)=(ii) 2R 9. = AR A=A0, C=Co, =T &&EHEIZL
29 5. ()=(ii) ZR7.

[p.95 16] V2 =2
[p.96 | 15] v2 = 2



.99 112,13] (6.4.22) & 1 {b;(z, &) = 0} LA FH = (6.4.21) B XV (6.4.22) X b
p.99 112] Ker F,,(2°) = Ker F,(p)
p.111 | 2] Q(Fv, F?v) = Q(v, F?v)

p.111 |6

[
[ ]
[ | @
[p-111 }4] o(v + tF?w, Fv + tF3v) = o(v + tF?v, Fv + tF3v)
[ | o(w, FPw) =1 = o(w, F3w) = —1

[

p111 |8 up = —V2F%w = uy = —F?w, v = (v — F?w)/V2 = v; =
w— F?w

[p.129 |13] M 8.2.1 = &€ 8.2.1
[p.142 15] (9.3.13) & = (9.3.13) 25
[p.142 13] LEFEMETHDH. = S,
[

p-143 113] 1/C < ¢(x,€)/d(y,n) + ®(x,£) /L (y,
= 1/C < 6(x,8)/ Py, m), ®(x,8)/

[p.143 18] zg: 3 + ig:f}g < C(1+0(x, &)l —y| + oz, )16 —n)Y
(b(l',f) (I)(.’E,g) _ B N
oo By = U Bl =yl + o n)le ~ )

[p-147 16] g.(w —2) <c D& &l -+ WX (9.3.14)
.
guw—2)<cD&EIF - WX (9.3.13)

p-147 L7 g.(w—2) > c & T5 = gy(w—2)>c&T5

[p-147 18] gu(T) < Cq:(T)(1 + g2 (w — 2))
= §u(T) < Cg=(T)(1 + g7, (w — 2))¥

[p-147 19] g.(w —2) > c WA - g (w — 2) < CgZ(w — 2)?

=>gw(w—z) >cPA g (w—z) < Cgi(w— 2)?

p.160 1 6] xTv = (14 ryn)Poy = xTv = (1+75)touu
p-182 2] Hy(2) = pm—2(2)Hp, (2) = Fp(2) = pm—2(2) Fp, (2)
p-210 17 TMH#FTM =1 - R=T"M#TM =1 - R

]

| T

210 4] Kpy = T-M#R = Ky = R#TM

T O

210 12

[
[
[
[
[ “MypuTM —s )\ #PHTM
[

p.210 110] T-M#PHTM — Ky #P#TM



21147 ()T M1 = (<) B K

212 18] (=1 LERE = (=1 LERL R—1€ S(M*1\"1,g) TH 5
o

[p-213 | 6] T=MH#(E) S PH# Py c#(E)SPH#TM = Kn#(€)5 P H# Py # ()W #TY
[p.213 [ 10] T-M#PHTM — Ky #P#HTM

[p.213 16] T-M#PHTM — Ky #PH#HTM

0216 | 3] T~ M#PHTM — Ky #P#HTM

[0.216 | 6] p(z; Hy) = Ky#P#TM

[p-216 11 T=MAE) S W H# Py H# ()P HTY = Kn#(€)5 “PH# Py #(E) P #TM
[p.222 113] T-M#PHTM — K #PH#TM

[p-225 11] S(\/m1, 1) BT 5. = S(m1,g1) (72 SF 1 S((wmi)*, g1)
2B 5.

0226 14] BEEND, — WESND. £72 S KETBEEERTICH p €
S((&)27™my, g1) & Pz +iH) — p(2) € S(wy/my, 1) WCHERTEE . 55

IZDWTIEAHE 13.1.5 2 F RS UL S 12X 2 3l S 55w AE S .

[p.227 |3, 4] b(w) < Cb( )(1 + 9% (w—2))N = b(2) < Ob(w)(1+ g7 (w —2))N
- b(w) < Cb(z) = -+ b(z) < Ch(w)

[p.228 19] g1. < g7, TH Y w L o, gy FEBID X (13.3.19) £ b
=
g1l o BBHEIMTH S5 (13.3.12) £V g7, (w

) S C(1+ g7, 10 (W)Y BGES.
912 < g7, THY w i o, gy BMEMD A (13.3.19) &

<
o

[.230 | 10] $iid
=
I (9.312) £9 37, o (5.1) < COU+ G0,y coy ()Y THEME

[p.230 1 7] %% 13.3.3= #i 13.3.4

(0232 13] T~MOp((€)5 ) PcOp((6)57) = KaOp((€)5°7) P,cOp((£)5°)
(0236 15] (2= (a+b)& = (2 =a+b

(0236 167 & = A2 A>08BEXT>02LTC=A>08k0T>02LT

[p267 |2 ~ p268 | 4] ‘
p267 kN5 24TH TS ...
CIZHEELTHERESS. p268 LS 417H

ZLATCEEIMZS.



rEy

|>‘E§§| < Ca5€;1/2+|ﬁl/2<§/>§—|a\+<1—n)lﬁl (15.2.29)

WALT B2 L2 HED. h<e 2N, S )iy < Cel 2 (EN, THEDS
(1= x2)(€ i) (5| < Caper V2N

EABDD B Wb (o)) BRBCTHIIE D 2 L EHS 2 THS. WIT (15.2.18)
EEBUTA> [P ICHET 2y > P 2 LT

|(pl<§/>§)gg§| < Cag\p(m""l)uf’ﬁ—\al < 0;66;|ﬂ|<§/>§—|a|
= C’;BEIW‘<é—/>§—‘0¢|+(1—m)\,8\(<£l>;(1_,€)‘5‘>
< Ol geV2 (ghyn=lal+(=ml8)

SIS %, AT (15.2.29) DINLT % 2 L AR, 000 p(,) (v, € —iNg) %
A3 2 12 ik A B BUT W T B B S

P05 (@€ = DO — 181, M) G-+ (&, — 612,705

% Gl g L L. ZITay 7R h—DTIVRT, £lra1+-+as =aq,
i+ +Bs=B—-08,|a;+ 8| >1,s=|ul THS. (15.2.29) £

(&5 — i615A0) (3] < Cagey V2TVl A=mIBL G =1 0 (15.2.30)
MR 5. XT

() ~ ) _ m—|u| (p) } o

YE ME 11221085 pgﬁg) (z,&/X — i) 1%
Ipﬁﬁlg) (z,&/A—i0)|/Ip(z,§/A —i0)| < C, 5(1+ €]/ ) 1B+ (15.2.31)
7= 9. (15.2.30) B L (15.2.31) £ 0 [900¢p(,) (2, & —ird)| 1
C«QBEIIMI/HW*BV?/\—IHI(1 + <£>//\)IB+VI <§/>L/u|—|a\+(1—n)\ﬁ—5|

< Capel? A2 {pP (g7 0-mlemr} {(1 1 (g, /0) (€1); 0}
X<5/>;m\a|+(1—n)lﬂl(1 + <§>7/)\)\VI

LiMix s, 22T > 061_1<§/>§ ERWE. (€),/) < Ce}/2<§/>’1y—n i)
UM < Ry Tk X 5z

COLB6|10¢+,3|/2<£/>;n|a\+(lfn)\6|(1 + <§>Py/>\)|u\



THMEND. (), < Cey Ve, £V (£)4/A < Cer V€)M \TIERE L THS
ikES LW
[p-27116] L7235 T |p(z,& —iN0)| i o, gREIEINTH 5.

=

ZIZT(15.3.36) &V g0, o(y.n) < CL+ g7y ey )V AHES DT
[p(z, & —iN0)| 1% o, g HEIEINTH 5.



